England is famous for its gardens, and most people like gardening. This is probably one reason why so many people prefer to live in houses rather than in flats. Particularly in suburban areas it is possible to pass row after row of ordinary small houses, each one with its neatly kept patch of grass surrounded by a great variety of flowers and shrubs. Enthusiasts of gardening get a great deal of helpful advice from the television and magazines.
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1. The passage points out that, because many English people are fond of gardening _____.

A) they don’t want to live in suburban areas.

B) houses are more popular than flats.

C) they can spare little time for the television.

D) the price of land is constantly going up.

E) they grow flowers but not grass and fruit trees.
2. The passage stresses that people interested in gardening _____.

A) find it, necessary to move out to distant rural areas.

B) need large gardens in order to get satisfaction.

C) are in a minority in England.

D) get very little encouragement from the media.

E) are supplied with information and guidance by both the television and the press.

3. The passage is concerned with _____.

A) the increasing demand for new varsities of flowers and shrubs.

B) the problems of gardening in suburban areas.

C) the new techniques in gardening.

D) the enthusiasm of people in England for gardens and gardening.

E) how to look after the grass in gardens.

Public libraries, maintained by the local authorities, are well developed and progressive, and everywhere allow people to borrow books without charge. The books in the lending section are always kept on open shelves, and library staffs are very helpful in getting books on request from other libraries through the exchange system. Most libraries report an increase in borrowing over the past few years, so television does not seem to be stopping people from reading, so it was feared that it would.
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4. It is explained in the passage that any book which is not available in one library _____.

A) won’t be available at any library.

B) can be brought from another.

C) discourages people from using libraries.

D) spoils the whole lending system of the public libraries.

E) should be reported to the librarian.
5. As pointed out in the passage, people nowadays _____.

A) prefer entertaining television programmed to reading.

B) are using public libraries more than they used to in the past.

C) read a lot but don’t use the libraries much.

D) complain a great deal about the poor services the libraries are offering.

E) are using the exchange system less and less frequently.

6. The passage gives us the impression that public libraries _____.

A) charge more than is necessary for the services given.

B) are no longer receiving any financial support from local authorities.

C) are working extremely efficiently at present.

D) do not cooperate with each other at all.

E) are understaffed and poorly equipped.
Fahrenheit is the system of measuring the temperature, how hot or cold the weather is, and used by many people in Britain. The freezing point Fahrenheit is 32 degrees. So a cold winter’s day in Britain would have a temperature of 38°f (3° centigrade) and a hot summer’s day would have a temperature of 90°f (32° centigrade) The Fahrenheit scale was invented by the German scientist Gabriel Fahrenheit in 1710. Today in Britain most people over twenty five know the Fahrenheit scale but the centigrade system (Celsius) is being used more and more. Weather forecasts on television and in newspapers show temperature in both scales.
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7. It is explained in the passage that the term “Fahrenheit” _____.

A) has retained its popularity among young people.

B) is very rarely used in Britain today.

C) refers to the scale of temperature between 32° and 90°.

D) is never used in weather forecasts.

E) derives from the name of a German scientist.
8. It is implied in the passage that in the long run, the Celsius system _____.

A) will be remembered only by the elderly.

B) will soon fall into disuse.

C) seems likely to be favored by newspapers but not by television.

D) will replace the Fahrenheit one.

E) will improve and become more reliable.
9. The passage deals with _____.

A) two different systems of measuring the temperature.

B) the advantages of the Fahrenheit scale over the Celsius scale.

C) the scientific research carried out by Gabriel Fahrenheit.

D) the range in temperature to be fond in the British Isles.

E) the declining popularity of the Celsius scarlet in Britain.

The Falklands are a group of small islands in the South Atlantic close to Argentina, with a population of 1.200 British citizens. They have been British territory since 1892. Disputes about who owns the islands go back to the eighteenth century. Argentina has long claimed that these islands, which they call the Malvinas, belong to them. They occupied the islands in April 1982 and the Falklands War lasted until July 1982 when British forces won them back. The Falklands War had an enormous impact on Britain and is still controversial. Some people seat it as a restoration of Britain’s old imperial power.
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10. It is pointed out in the passage that both Britain and Argentina _____.

A) were reluctant to start the Falklands War.

B) regard the Falklands as their own territory.

C) realize that these islands are of no implanted to anyone.

D) prefer to use the name Malvinas for these islands.

E) only laid claim to the islands after 1892.
11. According to the passage, the Falklands War _____.

A) was being fought, on and off between 1892 and 1982.

B) was largely ignored by the British public.

C) showed how right Argentina was claiming the islads.

D) was followed by a withdrawal of most British citizens from the islands.

E) broke out after the islands were invaded by Argentina.
12. One may conclude from the pas sage that, even today, Britain’s hold over the Falkland islands _____.

A) is regarded as politically and eco nominally unnecessary by everyone in Britain.

B) could, in all likelihood, lead to another war between Britain and other prows.

C) causes more problems than benefits to the British public.

D) is felt by some people to be a continuation of the British imperial rule.

E) has not been accepted anywhere but in Argentina.
The beauty of bread is its simplicity. Flour and liquid are the main ingredients, along with yeast and sometimes salt and from these basics we get a nourishing and tasty food that gives us carbonhydrate, protein, and B vitamins, and comes in a wide variety of shape, textures, and flavors. Practically every culture has its own type of bread and many have more than one. For centuries it was the white breads that were po​pular; but nowadays more and more people, rightly prefer the brown village type of bread which contains far more vitamins and is also much tastier.
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1. As it is pointed out in the passage the ingredients of bread _____.

A) don’t allow for much originality in the manner of cooking.

B) vary greatly in different parts of the world.

C) are few and simple but there is much variety in the type of bread produced.

D) are low in food value.

E) are low very different from what they were a few centuries ago.

2. The Passage stresses that bread is a useful item in our diet _____.

A) even though most people don’t really like the taste.

B) but should only be eaten in small quantities.

C) especially if we confine ourselves to the white varieties.

D) on account of both its flavor and the nourishment it provides.

E) so long as it is eaten with foods containing protein and carbohydrates.
3. According to the passage the present day trend in favor of brown bread _____.

A) is understandable and to be encouraged.

B) is not a healthy trend.

C) cannot be expected to continue.

D) is to be found only in the villages.

E) has nothing to do with quality or nourishment, but only with appearance.

Many of us enjoy a visit to a zoo and for those seeing lions and tigers for the first time it is surely a most thrilling experience. But how many people stop to wonder how the animals are feeling in their often unsuitable surroundings? Most zoos cannot afford to provide all the separate species with the right environment. The animals in zoos may be well fed, but a hunting animal wants to hunt for its own food.
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4. It is pointed out in the passage that coming close to see wild animals as tigers and lions _____.

A) can only be possible in large zoos.

B) gives some people a strong sense of excitement.

C) can make them very aggressive towards people.

D) is unsettling for young children

E) is the only way to understand their eating habits.

5. The writer feels that few people _____.

A) visit a zoo in order to see the animals there.

B) are indifferent to the feeling of zoo animals.

C) are interested in any of the animal species.

D) are sufficiently sensitive to the conditions of animals kept in zoos.

E) really want to see a living lion or tiger.
6. It is emphasized in the passage that, the living conditions of most animals in zoos _____.

A) are carefully designed to make the animals happy.

B) have recently improved greatly.

C) could easily be improved at little cost.

D) tell us a lot about the natural environment.

E) are very different from those of their natural environment.

Born on January 30th 1951, Phil Collins seemed destined for a life on the stage. While his father was in charge of an insurance office, his mother managed a theatre school in London. All three of her children had parts in films When Phil got a part in the London production of “Oliver”, he left school for a career in acting. Meanwhile, he was already playing drums at parties and clubs and had begun to write his own songs, secretly hoping that one day this would be his fulltime job. Then, in 1975, something happened that changed his life. He became the drummer of the Genesis group.
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7. As the passage points out, the pop music singer Phil Collins _____.

A) originally wanted to work along side his father.

B) was introduced early in his life to the world of entertainment.

C) got little encouragement from his family.

D) was the first in his family to go on stage.

E) continued his schooling even after he took a part in the musical “Oliver”.

8. According to the passage although Phil Collins began his career in the theatre, _____.

A) his real interest lay in music.

B) he always dreamed of being a successful businessman like his father.

C) his real talent was in filmmaking.

D) he did so very unwillingly.

E) he has always disliked being in the public eye.
9. The passage tells us that the year 1975 _____.

A) was when Phil Collins first had a song accepted by Genesis.

B) was the year in which Phil Collins left the Genesis group.

C) was a turning point in Phil Collins’s life.

D) was one of great disappointments for Phil Collins.

E) saw the end of Phil Collins’s career as a singer.

British towns suffer from the same traffic congestion, noise and polluting fumes as all towns in the western world, but as yet only London, Newcastle, Glasgow and to a small extent Liverpool, have useful railways going underground through the central areas. Elsewhere there are plans for building underground railways but they have little hope of making any progress with them so long as public expenditure is restricted. In general, the north has better public transport than the south, with cheap and frequent bus services using better roads shared with fewer cars.
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10. As it is pointed out in the passage, most British towns have no underground railway system _____.

A) as the system is left to cause a great deal of pollution.

B) since the majority of people have their own private means at-transport.

C) as this is not felt to be practical system outside London.

D) because there is not sufficient public money available for such projects.

E) simply because the people feel no need for one.

11. We can understand from the passage that _____.

A) Liverpool has the most developed underground train system in Britain.

B) more people drive their own cars in the month than in the south.

C) the north of Britain suffers less from traffic problems than the south does.

D) the south of Britain enjoys cheap and highly efficient bus services.

E) British cities have much less air pollution than other cities in the west.
12. The author suggests that under ground railways are an excellent means of transport because _____.
A) they are a much cheaper means of transport than buses.

B) they do not pollute the streets of a city with noise and petrol fumes.

C) the building and maintenance of them IS comparatively cheap.

D) the numbers who use them can easily be restricted.

E) the services offered on them are constantly being improved.
The famous English detective Thomas Wilson was actually a great lover of music; he often played the violin and even composed some music. He would sometimes spend a whole afternoon, listening to music, and this would make him extremely happy. On such occasions he grew gentle and dreamy, quite unlike the sharp, clever and rather frightening detective that everybody knows him to be. But such a mood rarely lasted long and when it left him, he was more alert and businesslike than ever.
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1. The writer describes a side of Detective Wilson’s character which _____.

A) he thinks is unsuitable for a detective.

B) is referred to as a major defect.

C) was little known by the gene​ral public.

D) had a bad effect upon his work.

E) eventually led to his downfall.
2. The writer points out that, after a quiet afternoon spent in listening to music, Wilson _____.

A) went back to his detective work with greater efficiency.

B) would lose interest in his professional work.

C) found himself behaving in an aggressive manner.

D) wished he didn’t have to work as a detective.

E) would take up his violin and play some of his own works.

3. We can understand from the passage that Wilson was generally regarded as _____.

A) being rather unreliable as a detective.

B) a man of many and varied talents.

C) rather a cruel person, even a wicked one.

D) an extremely intelligent detective, and one to be feared.

E) someone whose behavior was disliked by many people.

During the Crimean War, Florence Nightingale showed extraordinary qualities of determination and organizing ability. In the English hospital where she worked, conditions at first were terrible dirt and disease probably caused more deaths among the soldiers than aid the wounds received in battle. Still, under these circumstances, Florence Nightingale gradually built up a highly disciplined nursing staff and, together with more adequate medical supplies, she was able to improve conditions and be of real service to the soldiers. However, the work was hard, and, as a result, her own health suffered.
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4. One important point the passage makes is that Florence Nightingale _____.

A) would have been more efficient if she had had a more qualified nursing staff.

B) was not liked by the nursing staff because of her hard discipline.

C) hated the terrible conditions she was working in and wanted to get away.

D) failed to improve conditions in the hospital as she herself had poor health.

E) overcame, with great efficiency, the problems she faced in a military hospital.
5. It is clear from the passage that, because Florence Nightingale was a determined person, with a gift for organizing, she _____.

A) volunteered to serve in the Crimean War.

B) was widely criticized by her staff.

C) did little nursing herself.

D) was able to succeed in her work.

E) was selected by the army to work as a nurse in the hospital.

6. As the writer points out in the passage, conditions in the military hospital were, at the beginning, so bad that _____.

A) they accounted for more deaths among the soldiers than the war itself.

B) little could be done to improve them.

C) Florence Nightingale felt she had little chance of success.

D) many of the nursing staff feel ill.

E) medical supplies soon ran out.

Skiing is a popular sport, enjoyed by people of all ages. The best skiers, that is, the professionals, have until recently been Europeans. The Austrians, the French, and the Italians have generally been the fastest in international competitions, Recently, however, skiers from other countries have also come to the fore and demonstrated their skills. As a result, interest in the sport has become worldwide, and this has led to a highly competitive ski industry.
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7. It is clear from the passage that the European countries _____.

A) are determined to improve their skiing skills.

B) are now losing their lead in skiing sports.

C) will soon dominate the ski industry in the world.

D) regard skiing as the world’s most popular sport.

E) regret having invested so heavily in the ski industry.
8. The writer emphasizes that the development of the ski industry in the world _____.

A) owes little to the growing international interest in this sport.

B) has been fastest in countries outside Europe.

C) has been the result of the efforts made by the European professionals.

D) has been the benefit of the European courtiers.

E) is due to the growing international popularity of skiing as a sport.

9. According to the passage, as a sport, skiing _____.

A) arouses little interest outside Europe.

B) is in the hands of professionals only.

C) is not confined to any special age group.

D) is rapidly becoming too expensive for most people.

E) ordinarily came into being in Austria.
The Amazon basin is a huge area in Brazil. It has always attracted businessmen on account of its valuable and rich resources such as rubber, coffee and cocoa. However, it is not easy to make money by starting an enterprise there. As the Brazilians say, “If you want to succeed, you must believe in the Amazon, and you must be young” Many rich men, including Henry Ford, have poured money into the area and gone away with nothing.
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10. The writer points out that many businessmen _____.

A) have expected to make their fortune in the Amazon basin, but most of them have been disappointed.

B) have invested heavily in the Amazon basin and made huge profits.

C) have followed the example of Henry Ford and started an enterprise in the Ama​zon basin.

D) have only been interested in importing rubber, coffee and cocoa from the Ama​zon basin.

E) have followed the advice of the Brazilians and become rich.
11. According to the passage, there has been a great deal of economic interest in the Amazon basin _____.

A) and the interest is still growing rapidly.

B) even though Henry Ford invested very little money there.

C) but very few people have actually invested money there.

D) since many investors have lost money in the region.

E) because the region has a wealth of raw materials.

12. One can understand from the passage that the Amazon basin _____.

A) is producing less and less in the way of raw materials.

B) still remains a challenge to businessmen and does not give easy profits.

C) is rich in rubber, coffee and cocoa, but in nothing else at all.

D) is fast becoming one of the world’s major industrial regions.

E) no longer welcomes foreign investments.

Nobody knows when fiction began. Maybe the first storyteller was a prehistoric mother trying to explain the world to her children. Or perhaps it was a hunter telling about his adventures around the camp fire. Who can tell? What we do know, though, is that storytelling was a purely oral activity until around 800 BC. Myths and tales were passed down by word of mouth and had to be memorized by each new generation of storytellers. This oral tradition only changed when ancient people started to keep written records of certain stories. The earliest surviving examples of these are the epics of Homer, a blind professional storyteller, who lived in the eighth century BC.
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1. It is pointed out in the passage that story-telling _____.

A) was first introduced by Womer in ancient times.

B) possibly began in prehistoric times.

C) began as a written activity in antiquity.

D) became less and less popu​lar during the 8th century BC.

E) became far more popular with the invention of writing.

2. According to the passage, the Homeric epics _____.

A) were among the first stories to be written down.

B) consisted mainly of myths and other tales.

C) are the first examples of prehistoric tales and myths.

D) were not the best of their kind in the 8th century BC.

E) have often been imitated successfully in later centuries.
3. We understand from the passage that, throughout the oral tradition, professional story-tellers _____.

A) were much respected in primitive societies.

B) depended on Homer for their stories.

C) were skilful at creating new stories.

D) collected the first stories going back to prehistoric times.

E) used to learn myths and tales by memory.

The printing press was invented by Gutenberg in the city of Mainz, in Germany. He built and operated the printing press with movable metal letters. In fact, simple printing methods had existed for centuries, but they had to be done by hand and took a long time. What made Gutenberg’s press so different was that the individual letters themselves could quickly and easily be moved to create different pages. This made it possible to print entire books more cheaply and more quickly than ever before.
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4. It is pointed out in the passage that the basic new feature of Gutenberg’s printing press _____.

A) was that all the pages of a book were printed at the same time.

B) was that it could easily be operated by unskilled workman.

C) was that the printing of books was less costly although it took a long time to do.

D) was the use of metal letters that could be moved into different positions.

E) made it possible to print books without any error at all.

5. One understands from the passage that actually, the history of printing _____.

A) first begins with Gutenberg’s invention.

B) has always been associated with Germany.

C) can be traced back well before the time of Gutenberg.
D) runs parallel to the history of books.

E) gives less importance to Gutenberg’s invention than it deserves.
6. It is clear from the passage that the printing technique introduced by Gutenberg _____.

A) made printing more complicated and time consuming.

B) was not as important as it has often been thought.

C) was not used outside Germany for a long time.

D) speeded up the printing of books.

E) adopted the metal letters system of earlier printing methods.

In many countries in the process of industrialization, overcrowded cities present a major problem. The overpopulation of towns is mainly caused by the drift of large numbers of people from the rural areas. The only long-term solution is to make life in the rural areas more attractive, which would encourage people to stay there. This could be achieved by providing incentives for people to go and work in the villages. Moreover, facilities in the rural areas, such as transport, health and education services should be improved.
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7. According to the passage, one significant outcome of industrialization has been _____.

A) a massive migration from the countryside to cities.

B) a general improvement in the quality of urban life.

C) the decline of health services in cities.

D) the emergence of new cities throughout the country.

E) an overall increase in the population of the country.

8. The writer points out that one way in which rural life might be made more attractive _____.

A) has already been tried; namely improved education services.

B) would be to set up better medical facilities.

C) has been suggested by those migrating to the towns.

D) has been regarded by some as a threat to the progress of industrialization.

E) is likely to prove unpopular among city dwellers.
9. The author suggests that, in order to solve the problem of overcrowding in cities, _____.

A) health and education services in the cities have to be modernized.

B) transport facilities have to be renewed completely.

C) measures should be taken to make the city environment more attractive.
D) the number of those migrating to the cities should be restricted.

E) living conditions in the countryside need to be made better and more agreeable.

From the beginning of human history every society has had some way of preparing young people for adult life. Many societies have regarded education as training for work. In many traditional societies children still help the older members of the family in their work and so grow up to do the same jobs as their parents. Elsewhere young boys used to be sent away for several years as apprentices to a craftsman to learn his trade. In the modern world, however, the chief aim of education is to stimulate the child’s mind and enable him to develop his personality and abilities to their limits.
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10. According to the passage, in the past, education _____.

A) was offered only to adults.

B) was generally understood as a means of learning a skill.

C) was strictly confined to the family environment.

D) was not taken seriously by parents.

E) didn’t relate at all to a person’s working life.
11. The writer points out that, throughout history, in some way or another, _____.

A) boys have often managed to avoid work that requires a lot of physical effort.

B) parents have been reluctant to improve the education of their children.

C) children have been forced to learn several crafts.

D) children have been given an education to equip them for the future.

E) young people have chosen different ways of life from those of their parents.

12. One can conclude from the passage that modern education _____.

A) is a clear continuation of the practices of earlier times.

B) is more interested in practical skills than in mental development of any kind.

C) gives more importance to the development of a child’s mind and character than it used to.

D) does not prepare young people for their future.

E) puts too much pressure on a child.
The movement of people from the countryside into the cities naturally causes many problems there. The obvious one is overcrowding, which becomes a heavy burden on schools, hospitals and transport systems. The countryside is also negatively affected. As it is usually the young and healthy who leave the countryside, this creates a shortage in the workforce for farming and other rural activities. The best solution would clearly be to ensure that rural life has more to offer to the young.
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1. The writer clearly points out that, when large numbers of people move from the countryside to the towns, _____.

A) it leads to problems on both sides.

B) there are advantages for everybody.

C) new hospitals and schools are always provided.

D) the quantity of public transport is improved.

E) there is work for everybody in country areas.
2. The writer suggests that, as a result of the movement from the countryside to the cities, the people left behind _____.

A) are the ones who genuinely enjoy peace and quiet.

B) are, generally, only farm workers.

C) lose interest in rural activities.

D) are mostly the elderly and the weak.

E) often feel they have been deserted by their young.

3. The writer concludes that the movement from the countryside into the cities _____.

A) can be prevented by making rural life more attractive for the young.

B) seems to have slowed down considerably already.

C) should not be regarded as a serious problem.

D) is necessary for the increase of the urban workforce.

E) may eventually prove to have been useful to the country as a whole.

Some time between 3000 and 2000 BC. a great flood occurred in Mesopotamia. This event had such an effect upon the peoples who lived in that area that several flood myths developed. There are many similarities between them. In all of these myths, there is always a leader who is warned to prepare for a flood. The leader builds a ship, stores the necessities of life on board, and so survives the flood. After the flood he lands safely on a mountainside, and the human race continues. There are small differences in the details of the myths, of course, but the only important difference is the course of the details of the myths, of course, but the only important difference is the course of the flood. In some myths, the flood comes as a punishment from the gods for man’s bad behavior; in others there is no explanation given.
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4. As we understand from the passage, the flood that hit ancient Mesopotamia _____.

A) put an end to the human race throughout that area.

B) was regarded by all the survivors as a punishment sent by the gods.

C) must have greatly affected very many peoples over a very large area.

D) is not described in any detail in any mythology.

E) was survived by very few people indeed.

5. The writer explains that the most striking similarity between the myths of the flood is _____.

A) to be found in the small details

B) that they all give a clear account of the causes of the flood.

C) the detailed description made of the amount of damage caused by the flood.

D) the presence of a wise leader who saves the human race.
E) the explanation given as to why so few people survived.

6. As one can conclude from the passage, if the leader had received no warning of the coming of the flood, _____.

A) everyone would have been punished equally by the gods.

B) people would still have found a way to survive.

C) Mesopotamia would have disappeared from the face of the earth.

D) there would have been only one myth made.

E) he would not have been able to help his people.
There really is no such thing as “Art”. There are only artists. Once these were men who took colored earth and roughed out the forms of animals on the walls of caves. Today they are men who buy their paints, and design advertisements or paint pictures which they hope to sell. There is no harm in calling all these activities art as long as we keep in mind that such a word may mean very different things in different times and places.
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7. The writer points out that we cannot _____.

A) give a simple single definition of the term “Art”.

B) imitate the works of primitive artists.

C) regard advertisements as work of art.

D) see any relation between art and trade.

E) separate art from the routine activities of life.

8. One of the main points the writer makes in the passage is that _____.

A) the meaning of art changes according to time and place.
B) cave paintings are more meaningful than a lot of modern pictures.

C) the designing of advertisements has become a major art activity today.

D) the practice of art in our times has become increasingly costly.

E) animals have, in all ages, been a popular subject for artists.
9. The writer wants us to accept the idea that primitive cave pictures _____.

A) always represent animals in a single color.

B) are of a poor color owing to the use of colored earth.

C) have little artistic value for us, but we still fell we ought to preserve them.

D) are no less works of art than modern paintings and advertise met designs.

E) were made in a style very similar to that of modern painting.
The seventeenth century was a period of joyful activity, of experiment in politics, in religion and in the natural sciences, with the help of the telescope the skies were examined; with the aid of the microscope doctors learned more about the human body. Inventors were busy on a variety of things ranging from more reliable watches to mere des tructive guns and explosives. For the first time, travelers went to more and more distant places; and traders followed their example. In fact, everyone was doing something new.
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10. According to the passage, it was in the seventeenth century that people _____.

A) began to take an interest in trade.

B) first set out on journeys to faraway countries.

C) learned how to use watches to tell the time.

D) suddenly became aware of the importance of trade.

E) finally began to recognize the advantages of scientific studies.

11. The writer points out that, in the seventeenth century, _____.

A) the world enjoyed a gread deal of economic prosperity.
B) there was little change in political thinking.

C) religion was almost never the subject of serious debate.

D) no important progress was made in the sciences.

E) many useful inventions were made in various fields.
12. The writer seems to suggest that some of the inventions of the seventeenth century ____.

A) were obviously ineffective and even useless.

B) could be used for harmful purposes such as war.

C) were specially designed to help travelers and traders.

D) would lead to the discovery of the telescope.

E) soon went completely out of use.

By the beginning of the eighteenth century, the population of Tokyo had grown about 1 million, making it the largest city in Japan and one of the most populous in the world. An especially lively section of the city was along the Sumida River, where pleasure boats and parties were common and whose banks were lined with fashionable tea houses. Tea was central to the Japanese not only in their homes, but in the public life as well. In the bustling urban centers of 18th century Japan, tea houses served a role similar to the one played by coffeehouses in Europe which were centers of discussion and entertainment.
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13. We learn from the passage that the Sumida River _____.

A) separated the poor area of Tokyo from the rich one.

B) could be dangerous and so boats rarely used it.

C) ran through one of the most popular pats of eighteenth century Tokyo.

D) was a busy waterway since it was the commercial centre of the city.
E) has recently lost its popularity among the people of Tokyo.

14. The writer points out that, in the eighteenth century, there was _____.

A) an effort among other Japanese cities to imitate the social life of Tokyo.

B) a sudden increase in the population of Tokyo.

C) a growing interest among the people of Tokyo in European coffee-houses.

D) a widespread desire among the young in Japan for all kinds of entertainment.

E) a great likeness between Japan’s tea-houses and Europe’s coffee-houses.
15. We can understand from the passage that no city in eighteenth century Japan _____.

A) could compete with Tokyo’s cultural life.

B) had as many tea-houses as Tokyo had.

C) had established as many centers of entertainment as Tokyo had.

D) has as large a population as that of Tokyo.

E) consumed as much tea as Tokyo did.

Edith Wharton is, perhaps the greatest woman novelist that America has yet produced. Her novels are skillfully co instructed, and her style is smooth and elegant. Her richest gifts, however, are the result of her fearless search for truth in human relationships. She is largely interested in the emotions we all experience. Her novels record timeless truths; and it is this fact above all that continues to make them meaningful and important.
1999

16. It is pointed out in the passage that Edith Wharton’s main interest in her novels _____.

A) has been to account for the miseries of life.

B) is to show us how to control our emotions.

C) is to provide her characters with a convincing historical background.

D) has been to describe man’s emotional life.

E) has been to emphasize how easily human relationships break down.

17. As the writer suggests, one reason why Edith Wharton is so admired in America is _____.

A) because her way of writing is particularly easy to understand.

B) that she has been fearless in describing human selfishness.

C) because she only writes about matters that concern women.

D) that she is the first woman novelist to deal with ordinary people.
E) because she writes with elegance and ease.
18. The writer emphasizes that Edith Wharton’s novels will remain popular _____.

A) even if other women novelists go out of fashion.

B) because they are about hasting truths.

C) even though they only deal with American social life.

D) unless a very new type of novel becomes fashionable.

E) so long as people read novels.

The turning point of World War I ca me sometime in 1916. This was the year of the famous Battle of the Somme. It was also the year when the Liberal Government in Britain was defeated after a crisis in industry and a sudden great rise in prices. Lord Kitchener, the national hero and the one who led the war, was tragically drowned in this same year. Douglas Haig replaced Kitchener as the one to direct military policy, but he never became popular with the people as Kitchener had been, because he seemed coldly indifferent to fates of the soldiers he commanded.
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19. According to the passage, it is clear that the year 1916 _____.

A) brought the Liberal Government a widespread popularity in the country.

B) brought Britain and her allies the final victory of the war.

C) will always be remembered as the year went the British people grew more hopeful.

D) was the year when Britain suffered many defeats in the war.

E) was a historic one for Britain for various reasons.

20. The writer suggests that, unlike Lord Kitchener, Douglas Haig _____.

A) really had all the qualities required of a military commander.

B) soon became a war hero for his country.

C) showed no sympathy for the soldiers under his command.

D) was highly qualified and experienced in military matters.

E) gave much importance to gaining popularity among the people.
21. The writer points out that the liberal Government in Britain lost power _____.

A) because the economic situation took a serious turn.

B) since so many soldiers had died in the Battle of the Somme.

C) a very short time after Lord Kitchener was drowned in a very tragic way.

D) even though a change of government is damaging in time of war.

E) as a result of the military policies it had introduced.
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